
Name:
Week of September 19
MathWorksheets.com

Round 89,338 to the 
nearest hundred. 1

243
,  1

81
,  1

27
,  1

9
,  1

3
,   

(1) ,  ,    (9) ,   (27) 

How many minutes is it 
from 9:00 a.m. to 10:30 
a.m.?

918179,  991817,  799181,  

,   817991,  181799,  

918179,  991817,  799181,  

179918,  817991,  181799,  

918179,  991817

A rectangle is 49 cm on 
one side and 8 cm on 
another side.  What is the 
perimeter?

F,  M,  G,  N,  H,  O,  I,  P, 

 J,  ,   K,  R

2 x (78 ÷ 6) - 30 ÷ 10 = 5 + 8 ÷ 8
12 + 9  8 + 7

1,  1,  1,  6,  6,  1,  ,   1, 

 1,  1,  1,  6,  6,  1,  1,  1,  1,  1,  

1,  1,  1,  1,  6,  6,  1,  1,  1,  1

t - 8 + t = 34
What is the value of t?

11 ÷ 1 - 6
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At the mud factory, Purple's job is to scoop up mud and make it into kilogram blocks of 

mud.  She loves her job!  Today there were 788,088 milligrams of mud trucked in.  Each 

mud block is precisely 1 kilogram, no less, no more.  How many mud blocks can she make 

today?

What kind of angle is this?

Sketch 2 lines GH  and WX  that are 
parallel.

88 divided by 11 equals 10 x 2 - 11 + 11 What is 50% of 562?

Amy rolls a die.  What is the 
chance of her rolling a 4? 2 x 9 =  22 km = m
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Solve for the unknown value.  Hint:  It is a positive whole number.

12y = 36    y = 

29 + m = 62    m = 

z + 34 = 91    z = 

g + 33 = 68    g = 

59 + m = 97    m = 

How much time is it from 
9:00 a.m. to 10:50 a.m.? 5,  ,   9,  11,  13,  15 Write 8

10
 in lowest terms.

Draw a number line 

with 0, 1
2

, and 1.  Show 

where 3
11

 would go.  Is 

3
11

 closer to 0, 1
2

, or 1?

How many meters are 
there in 117 kilometers?

The diameter of a circle is 
712 cm.  What is the radius 
of this circle?

word root il can mean into or not illuminate, illumination, illuminative
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There were 51 cows in the 

herd. Of that number, 3
4

 

were brown, 2/12 were 

black and white, and 1
12

 

were black. Which group 

had more cows in it?

Charles Lindbergh flew 
from Roosevelt Field, 
New York, to Le Bourget 
Field in Paris, France. He 
flew the 5,810 kilometers 
in 33.5 hours. What was 
his average speed? 
Round your answer to 
the nearest hundredth.

Mary was very happy. She 

had a new Chihuahua 

puppy. It was her 

responsibility to feed him. 

Her father told her the 

puppy would eat 1 1
2

 of a 

small can of food each day. 

How much would the puppy 

eat in three weeks?

(7 + 8) + 3 = 
Rewrite these in increasing order of length:

467 km,  522 mm,  70 m,  576 dm

9,599 - 7,669 =  

What is the largest possible sum of a 
three-digit number and a two-digit 
number?   Show the two numbers.

How many yards are in 21 feet?

 yards

Circle the addition property 
for 65 + 33 = 33 + 65.

commutative property
associative property

word root claim can mean shout or call out exclaim, proclaim

15 ÷ 3 =  

2 8 2
+ 2 7 3

4 x 3 =  
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Which is the better buy?  
Three bags of candy for $27 
or nine bags of candy for 
$45?

4 3
+ 2 4

21 ÷ 7 =  9 0 3
- 1 3 6

27 ÷ 3 =  4 x 9 = 
The letters A and E each 
have a line of symmetry.  
Name another letter 
between A and E that has a 
line of symmetry.

5 4
- 2 4

10 x 2 =  

If you divide 58 by 4, you get a remainder 
of 2.
Make up three other different equations 
where you divide by 4 and get a 
remainder of 2.

12 x 7 = 

3 x 8 =  

Erin and Rose are playing a number game.
Erin says 1.  Rose replies that the answer is 7.
Erin says 5.  Rose replies that the answer is 11.
Erin says 4.  Rose replies that the answer is 10.
Erin says 17.  Rose replies that the answer is 23.
Erin says 2.  Rose is thinking.  What number should Rose 
reply with?

word root id can mean related to or like vivid, vividly

11 x 6 =  

12 x 8 =  

8 x 8 =  

42 ÷ 7 = 
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1 lb = 16 oz

25 lb = oz

Can 322 be evenly divided by 5? Circle:
322 is evenly divisible by 5
322 is NOT evenly divisible by 5

16 ÷ 2 =  

Write an equation to represent this:

The product of seven and twelve is 
eighty-four.

Circle the smallest number:
807,649,694

2,513
1,723,805,897

6,351,420

9 x 4 =  

Circle the greatest number:
243,187 40,762 90,561,692
5,381

24 ÷ 3 =  

Hannah took three numbers greater than 1 
and multiplied them.  One number was 
seven and the other number was thirteen.  
Of course, she forgot the last number, but 
she remembered the product was 1001.  Is 
this possible?

975 - 968 =  

5 x 12 =  

What time is 15 hours after 
5:00 p.m.?

11 x 5 =  
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8 3 5 ÷ 5 9 8 2 ÷ 4 8 2 0 x + 8
4 0 = 4

Use the pieces above to help you fill in the runaway math puzzle.

What number is halfway 
between 26 and 33? 110 ÷ 10 = 48 ÷ 8 =  

63 ÷ 9 =  

9 - 0 = 1 - 9

+

5

+

2

1 6 x 5 = 2 5

0 8 ÷

- 9 6

1 1 x 9 = x 3 = 4

= 6 3 1 + 5 2

6 + = 4 2

+ 4 = = 6

3 = 7 = 0 + 1 5 =

1 = 0 ÷ 7 = 0

0 + 4 + 3 7 0

https://www.mathworksheets.com


Name:
Week of September 19
MathWorksheets.com

The EdHelper Clothes store at the mall has four employees (James, Matthew, Cameron, and 
Kayla). This week they worked 43, 26, 36, and 39 hours. The employees at EdHelper Clothes 
are paid by the hour. Each employee is paid at a different hourly rate ($16.70, $13.40, $12.60, 
and $8.65).

Figure out how many hours each employee worked this week. Also, determine each 
employee's hourly pay.

1. Cameron earned $491.40 this week.

2. This week, Matthew worked the most number of hours.

3. James had the smallest paycheck for the week.

4. Matthew earns the most amount of money per hour.

5. Kayla earns more than $12.60 per hour.

James worked  hours and was paid  hourly.

Matthew worked  hours and was paid  hourly.

Cameron worked  hours and was paid  hourly.

Kayla worked  hours and was paid  hourly.

Can 726 be evenly divided by 11? Circle:
726 is evenly divisible by 11
726 is NOT evenly divisible by 11

Jessica is older than Maria.  Hannah is 
younger than Jessica.  Who's the oldest?

3,929 - 2,921 =  429 + 978 =  

For 6,676,394,775,911, write the 
digit that is in the ten 
thousands place.

48 ÷ 12 =  
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Roman Numerals
I =

IV =

VII =

IX =

XIII =

XIV =

XV =

XIX =

XXXI =

1 is written with an I.
5 is written with a V.

10 is written with an X.
50 is written with an L.

100 is written with a C.

You cannot have 4 of the same letter consecutively.
4 is written as IV.

9 is written as IX.
40 is written as XL.

So you cannot write 44 like this: XXXXIIII.
But you would write 44 like this: XLIV.

Write the number as a Roman numeral and then find the Roman numeral.

2

XLXIIIIXXVI
IIIVVXXXIII

3

VIIIXIXXXV
XIIIIVXVXII

7

VIIVIIIXVX
VIIIIXIVXV

1 I

XIXLVIIIXIX
LIXLVIIIIXV

5

VXVXLVIVII
VVIIIXIVXI

10

IXXVIIIXIVI
IXXVIIIVIIX

14

XIVXXXVIIV
XIVVIIXXIIL

13

IXIIIXIVXLI
XIIIIIIVIIIX

44

XLIVXVIIVX
XXLIVXXXIXI

22 XXII

XXIIXXLVIII
IIXLIVXXIIV

39

IXLXXXIXVIX
XIXXXIXIVLI

40

XXXVIIIXLIX
VVIIXLXLIV

42

IXLVXLIIXIV
XXXVIILXLII

55

LVXXVIXXVI
LVXIIIIIIVX

30

XXXXXXIVIII
XXIIXXXXXIX

56

IIVLVIXIIIX
VIIILVIXXLX
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END 3 x (4 - 1) - 7

12 x 11 + 2 + 3

3 x 6 - 7 + 6

9 + 30 ÷ 5

END

6 + 5 + (7 x 11)

55 ÷ 5 + 5

3 + 2 x 3 - 3

7 x 10 x 1 + 11

2 x (3 x 1) + 5

END 9 x 32 ÷ 4

5 - 1 + 6 x 814 ÷ 2 x 2

7 x 2 - (11 - 6)

21 ÷ 7 x 7 11 + 10 x 8 + 1

END

40 ÷ 8 x 5

4 x 4 x 6 + 6

3 + 12 x 12 - 10

6 + 5 - 7 + 2

5 + 56 ÷ 7

11 + 7 x 12 + 12

33 ÷ 11 x 8

START

13

Draw a line from START to END.
13 14 17
11

Cross out the number you use above and then write it below.
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Two games require players to collect 
gold coins. Here is how many coins 
are needed for each level of the 
game Umba:
Level 1: MM
Level 2: MMMM
Level 3: MMMMMM
Coins needed for each level of the 
game Yinka:
Level 1: MMMM
Level 2: MMMMMMM
Level 3: MMMMMMMMMM
Did you notice each game follows a 
pattern?  Which game would require 
the most coins to complete level 9?

Each M is equal to 2 gold coins.

Gavin got 2 personal pizzas. He cut his 
pizza into 6 equal slices and then ate 3 
slices. He gave the other pizza to Pam. 
She cut her pizza into 7 equal slices 
and then ate 4 slices.
Draw a picture of each pizza.

Who ate the most pizza?

Adam tried to measure his resting 
heart rate. His heart beat a total of 29 
times in 25 seconds. Anna measured 
hers.  She counted a heartbeat of 112 
in 150 seconds.
Well-trained athletes tend to have 
resting heart rates that can be as slow 
as 40 beats per minute. Would you 
guess that Adam or Anna was a 
well-trained athlete?

Mary is playing a game against Amy. 
They have to find blocks and bring 
them back to their digital house.  After 
ten minutes of play, the one with the 
most blocks wins. Who is currently 
winning?
 
Amy has between 35 and 44 blocks.
When she puts her blocks into piles of 
8, there will be 5 blocks left over.
When she puts her blocks into piles of 
6, there will be 1 block left over.
 
Mary has between 35 and 44 blocks.
When she puts her blocks into piles of 
8, there will be 3 blocks left over.
When she puts her blocks into piles of 
6, there will be 1 block left over.
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Reduce 10
45

 to its lowest 

terms.

Reduce 9
18

 to its lowest 

terms.

10 - 7
8

 =

Write the reciprocal.

5
2

Write the reciprocal.

3
5

Write the reciprocal.
19

Write the reciprocal.

17
6

Write the reciprocal.

10
21

Write the reciprocal.

14
17

Write the reciprocal.

3
8

Write the reciprocal.

18
1

Write the reciprocal.
13

Write the reciprocal.

2
1

Write the reciprocal.

15
4

Write the reciprocal.

2
1
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Gavin and Maria are a team.  Gavin makes robots, and Maria fits them for fancy robot 

clothes.  They have two models.  Model One is very small at only 6.3 inches.  The other is 

bigger, but Gavin only gave Maria a calculation as the robot is still in production.  Gavin 

wanted it to be 3 times the size of Model One, but it turns out the prototype is 6.3 inches 

shorter than that.  How big is the prototype?

y = x + 17
y = 26
What is the value of x?

0.5 x 0.2 |-10| - t = 17

t =

Erin told the class that they 
should drink about 1.97 liters 
of water per day.  There 
are 21 kids in the class, 
including Erin.  They will all 
try to do that.  How much 
water will the class drink in 
a day?

|-63| x [45| = What is the remainder of 
46 divided by 7?
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Puzzle:

36

6 38

6 43

45

38

52 28 43 43 34 +
The sum for each column

and row is given.
= = =

= = =

Work Area:

36

6 38

6 43

45

38

52 28 43 43 34 +

2 9 0
- 3 2

6 7
+ 5 6 4

Find the difference 
between 489 and 165.

Use >, <, or = to complete.

1
2

    15%

11%    1
10

2
8

    25%

|-5| - t = -1

t =

If g = 7 and s = -44 then 
what is 8g + 8s - 4s = ?

Write 658,700 in words.
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
40.1

is the sum
8.1 23.6

6.6

1.8

40.6
is the sum

6.6

0.9

9.5

44.5
is the sum

4.8

9.5

23.6

Example:
8.1 + 23.6 + 6.6 + 1.8 = 40.1

Example:
6.6 + 4.8 + 9.5 + 23.6 = 44.5

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 20.4, 23.6, or 14.4.
The other three numbers have to all be DIFFERENT and must be from these: 0.9, 6.6, 
8.1, 4.8, 5.7, 9.5, or 1.8.

25.814.4 5.7

0.9

4.8

36.2
either 1.8 or 6.6

6.6

either 9.5 or 5.7

44
either 1.8 or 6.6 odd

5.7

8.1

47.8
odd

9.5

8.1

either 6.6 or 9.5

43.6
greater than 0.9 less than 20.4

greater than 5.7

30.5
less than 20.4 odd

even

4.8

30
odd odd

14.4

odd

either 6.6 or 9.5

either 9.5 or 6.6

34.41.8

greater than 5.7

even

27.9
less than 9.5 odd

either 20.4 or 0.9

odd even

even

even even

either 9.5 or 6.6

20.4
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 15.9, 27.5, or 29.6.
The other three numbers have to all be DIFFERENT and must be from these: 6.5, 4.1, 
7.7, 8.2, 3.5, 0.1, or 2.8.

38.37.7 6.5

8.2

15.9

26
either 0.1 or 3.5

0.1

odd

15.9

25.3
either 0.1 or 3.5 less than 27.5

greater than 0.1

34.2
less than 27.5

6.5

either 4.1 or 6.5

23.6
either 7.7 or 0.1 odd

less than 6.5

26
odd either 15.9 or 0.1

25.3
either 15.9 or 0.1 greater than 2.8

either 15.9 or 3.5

34.2
greater than 2.8 odd

either 4.1 or 6.5

odd

less than 6.5

either 7.7 or 2.8

39
odd greater than 0.1

even

32.9
greater than 0.1 greater than 4.1

either 15.9 or 3.5

38.3
greater than 4.1

less than 27.5

46.2
less than 15.9

either 7.7 or 2.8

odd

27.2
less than 15.9

even

either 0.1 or 3.5

26.5
odd

greater than 0.1

less than 7.7

27
odd

either 8.2 or 27.5

less than 4.1

34.5
even even

odd

43.3
even

either 0.1 or 3.5

either 15.9 or 8.2

greater than 0.1

less than 7.7

even

greater than 0.1

less than 4.1
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